F X 2

EENINRHICRBITOWMERLOEE LK

IR R IR S BT DT DI A R R O B nlEh THSTe),
WERT A RIEELLTLO—ELER,

EHIX, A—PFRPRZEERLZTTL B Biia.
ERSM: hAZ =a/RV
LvX  UW=ya—)28mmF3.5

AprR  RE—FZAKSB-103
UART ¥ 75 —SW-103

=160 =



NO.1 NO.2 NO.3
&) 1R 2 AL 190117627 0 4£300m A0 98T 3 ALY
o T - B il = o s i

' - W

3m

7m il

— 166 —



NO.5
PRIERAT LY EEHI400m

[Pt

Hi|P=vAd W

~ 187 =




Im

NO.7

i P
/3!

e AL

N0.8

W

— 168 —




NO.10 NO.12
BEOEEMN |E B ) 1| B 3
e A [ ey I T N

— 169 —



NO.13 NO.15
AL A AR AL

DR

o

7m i [f=vaa ilp=Rad D i f=eaq B

— 10—



NO.16 NO.17 NO.18
&578) 49] 01 AL R RARN L]

5m | fbad B M S0
m ) S i F=vaq B R &7l

=1 =



2m

3m

bm

7m

NO.20
KA ]

iR

NO.21
FeFIRT A 11

i f=vaq =R
Bl Bl s 7s L

= L=




7m

NO0.22

NO0.23
U

i [f=RAd 0

ilF=vAd

N0.24
B L
AN




NO.2: N0.27
/NP BR A it 7




NO0.28 NO0.29
JCH S AL AN

= 175:=



NO0.32 N0.33

BEJ 10T 1 b AR 72| F’E?j‘?ﬁfﬂ kA
o o g

=T



NO.34 : N0.36
?ﬁ?ﬁ&ﬁﬁl%ﬁﬁiflﬁ : __ FERETE A F VAT 2 kA

= 17 =



N0.38 NO0.39
i KD H9300m IO R0 491 Tk

i S AN ﬂ_ﬁ : :

=178/=



N0.40 NO.41 N0.42
ﬂtiﬁfﬁmwﬁﬁé‘a?ﬁ{)m mm@w%?ﬁ%(}m EREEIVER100m

= 119~



NO.43 NO.44 NO.45
D Ob IR L) E72£92.2km A HIEE & LB Lkm i‘ﬁ@iﬁ%?ﬁ‘aﬁ%ﬁl.lkm

Im

Al Sl

—~ 180 —



N0.46 NO.47 NO.48
5 T £ 7% e R 78 27 S KB L) & 729 1km o H B AL

— 181 —



N0.49 NO.50 NO.51

AH—Y DR B & A\ A IS 1000 o il IECEDS st

=182=



N0.52 N0.53
BRAIL FKEF )17 01 4L

QY =



NO0.55
Fr 1 13R] 1 R A




